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Our answers to students’ questions about
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( ~ ~ the relevance of what we teach might paint
( -r J '—) I ‘—\' r mathematics into an undesirable corner.
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A Defense of Mathematics
Need what?

‘CATALOGUE AND CRITIQUE OF RESPONSES
| EVER GOING TO USE THIS?"
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Days They'll Need Long Division
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1. “The Basics”
long division - times tables - fractions
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47. Find the missing side length.

Pythagorean Mistakes
X3 f 3.8
X3 +6-235
X2- 1

X =436 m [0 What math mistake did each
student make?

47. Find the missing side length.
X .8 -3

X3 =25-9

X2 = b

X =

47. Find the missing side length

[0 What are some implications for
our work?

47. Find the missing side length.
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47. Find the missing side length.
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X =583 m

47. Find the missing side length.
X3+ 3.8

X2+ 6 =25

X2= 1

X =43 m

47. Find the missing side length.
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47. Find the missing side length.

47. Find the missing side length.
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Pythagorean Mistakes

[0 What math mistake did each
student make?

[0 What are some implications for
our work?

[0 What role did memorization of
the times table play?

[0 What are some implications for
the conversations we could be
having?
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Research suggests that
timed tests cause math anxiety ¥

LuckyBucky

My 13 year old nephew is an A student. | asked him what 7 times 8 equals and all |
got was a blank stare. He got out his iphone to get the answer. The rest of the family
laughed, but | think it's friggin sad.

Source: The Bottom Half of the Internet

Math anxiety

2. Pedagogy Preparation
“] want them to get used to it.”

@cafedepruner
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HOMEPAGE SHAPES NUMBERS GRAPHS & EQUATIONS

=
EE] WHICH ONE DOESN'T BELONG?

THIS WEBSITE WAS INSPIRED BY THE MTBOS
with special thanks to Christopher Danielson and his Building a Better Shapes Book.

This is Which One Doesn't Belong?, a website dedicated to providing provoking puzzles for math teachers and
students alike. There are no answers provided as there are many different, correct ways of choosing which one doesn't belong.

Enjoy!

These are also known as Imposter Sets. Here is a ink to Steve Wyborney's blog about them.

3. Affective Domain

“Give me a student with a positive attitude towards mathematics, who’s
persistent, who’s curious, ... and she will be successful in high school.”

4. Mathematical Thinking

Habits of Mind - Processes - Practices - Curricular Competencies
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 Sharing Paire

Three friends, Chris, Jeff, and Marc, go shopping for shoes. The store is having a buy.
two pairs, get one pair free sal.

Ghris opts for a pair of high tops for $75, Jeff picks out a pair of low tops for $60, and
Marc settles on a par of lip-ons for $45.

.
i The cashier rings them up; the bil is $135.
"s e a rc ol How much should each friend pay? Try to find the fairest way possible. Justify your
S reasoning
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Sharing FPaira

two pairs, get one pair free sale.

Chris opts for a pair of high tops for $75, Jeff picks out a pair of low tops for $60, and
Marc settles on a pair of slip-ons for $45.

The cashier rings them up; the bl is $135.

Jeff  Marc

How much should each friend pay? Try to find the fairest way possible. Justify your
reasoning.
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wo pairs, get one par free sale.

Ghis opts for a pair of high tops for $75, Jeff picks out a pair of low tops for $60, and
Marc settles on a pair of slip-ons for

‘The cashier rings them up; the billis $135.

How much shouid each friend pay? Try to find the fairest way possible. Justify your
reasoning,
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5. Key Concepts & Big Ideas

ind

readers speak out

They'll Need It for Calculus

Christopher Danielson
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An Alternative Perspective
on What They’ll Need

readers speak out

They'll Need It for Calculus

Christopher Danielson

1. Proportional reasoning involves the use of
e multiplicative relationships to solve
etween two variables; and
problems.

. Slope is a rate of change.

Marian Small
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Three friends, Chris, Jeff, and Marc, go shopping for shoes. The store is having a buy.
two pairs, get one pair free sale.

Ghis opts for a pair of high tops for $75, Jeff picks out a pai of low tops for §60, and
farc setties on a pair of sip-ons for $45.

The cashier ings them up; the bl is $135.
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All Along The Watchtower

The Jimi Hendrix Experience — Electric Ladyland #QO
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2. The operations of addition, subtraction,
multiplication, and division hold the same

fundamental meanings no matter the domain
in which they are applied.

Marian Small

ESTIMATION180.com
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Which meaning is more meaningful?

Simplify (1.897+15)—(1.49¢+12), where ¢ represents
the number of pizza toppings Thank_you|

Determine (F, - F,)(C), where F,(C)= %C+ 32

and F,(C)=2C+30

Solve: |x—5|=2




